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QUESTION 1

True or False? MPLS may use an existing data link layer header field to identify a label, instead of using a specific

MPLS header
A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

Using facility mode fast reroute, how does the PLR learn the address of the MP?

A. The PLR issues an RSVP PATH message to the tail-end requesting the address of the MP.
B. The PLR learns the address of the MP from the ERO.

C. The PLR learns the address of the MP from the RRO.

D. The PLR learns the address of the MP from the targeted RSVP Hello message.

E. The PLR knows the address of the MP is the same as the tail-end router.

Correct Answer: C

QUESTION 3

Click on the exhibit.

*A:SRC R3# oam lsp-ping prefix 192.10.1.2/32

LSP-PING 192.10.1.2/32: B0 bytes MPLS payload

Seg=1, send from intf toRl, reply from 10.10.10.2
udp-data-len=32 ttl=255 rtt=2.45ms rc=3 (Egressktr)

——— LSP 192.10.1.2/32 PING Statistics ——-

1 packets sent, 1 packets received, 0.00% packet loss

round-trip min = 2.45ms, avg = 2.45ms, max = 2.45ms, stddev = 0.000ms
*A:SRC_R3#

After the Isp-ping command is executed, which of the following best describe the router\\'s action?
A. MPLS Echo Request packets are sent unlabeled to the prefix 192.10.1.2.

B. MPLS Echo Request packets are sent within the LDP tunnel that are signaled for 192.10.1.2.

C. MPLS Echo Request packets are sent within the RSVP-TE tunnel that are signaled for 192.10.1.2.
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D. MPLS Echo Request packets are sent over TCP.

Correct Answer: B

QUESTION 4

Which of the following statements regarding LSP path configuration are true? (Choose three)
A. The path must include at least one hop.

B. The path may be used multiple times in a single LSP.

C. The path may comprise loose hop entries only.

D. The path must define the LSP\\'s tail end.

E. The path may be used for multiple LSPs.

Correct Answer: CE

QUESTION 5

Click on the exhibit.

R2 R4
10.10.10.4

R1
R6
10.10.10.1 10.10.10.6
Legend R3
10.10.10.3
C O
LDP tunnel

An LDP tunnel is established on router R1 towards router R6. The link between routers R2 and R4 goes down. What will
happen to the MPLS data traffic to router R6 IMMEDIATELY after the link goes down?
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A. MPLS data traffic will be discarded until the IGP finds a new next-hop to router R3.

B. MPLS data traffic will be discarded unless the LDP tunnel has a standby secondary path.

C. MPLS data traffic will not be discarded because router R1 received labels from both next- hops, routers R2 and R3.
D. MPLS data traffic will not be discarded because of fast reroute capability on router R2.

Correct Answer: B
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